EXHIBIT 12



INVOICE

Two Ravinia Drive Suite 850 Atlanta, GA 30346 Phone: 770-390-2700

Fax: 770-390-2705

Invoice Number: 1077771

Invoice Date: 05/31/18

Bill To: Schiff Hardin LLP 233 South Wacker Drive Suite 7100 Chicago, IL 60606-6473 Bridget E. Turnelius

Ship To: Schiff Hardin LLP 233 South Wacker Drive **Suite 7100** Chicago, IL 60606-6473

Customer ID Terms

12952 Net 15 Days

517102

Job No. ESI Project No. Client / Matter No. 45807-0028

WR-475935 P-1025558

Sales Rep Sales Rep 2 P.O. Number

Quantity	Description	Unit Price	Total Price
14	Custom Labels	0.65	9.10
1	Redwelds	3.00	3.00
14	File Folders	0.75	10.50
672	Blowbacks - Color	0.50	336.00
1,332	Blowbacks w/Assembly	0.08	106.56

Past due invoices are subject to 1.5% interest per month

	Subtotal:	465.16
	Total Sales Tax:	0.00
Accepted By:	Total:	465.16

Remit To: Document Technologies, LLC

DBA Epiq eDiscovery Solutions P.O. Box 933435

Atlanta GA 31103-3435



INVOICE



Two Ravinia Drive Suite 850 Atlanta, GA 30346 Phone: 770-390-2700

Fax: 770-390-2705

Invoice Number: 1077774

Invoice Date: 05/31/18

Bill To: Schiff Hardin LLP 233 South Wacker Drive Suite 7100 Chicago, IL 60606-6473 Bridget E. Turnelius

Ship To: Schiff Hardin LLP 233 South Wacker Drive Suite 7100 Chicago, IL 60606-6473

Customer ID

12952

Terms

Net 15 Days

517102

Job No. ESI Project No. WR-477166 P-1025558

Client / Matter No. 45807-0028

Sales Rep Sales Rep 2 P.O. Number

Quantity	Description	Unit Price	Total Price
12	Custom Labels	0.65	7.80
1	Redwelds	3.00	3.00
11	File Folders	0.75	8.25
78	Blowbacks - Color	0.75 0.50	39.00
861	Blowbacks w/Assembly	0.08	68.88

Past due invoices are subject to 1.5% interest per month

Subtotal:	126.93
	0.00

Total Sales Tax: 0.00

Accepted By: __ 126.93 Total:

Remit To: Document Technologies, LLC DBA Epiq eDiscovery Solutions

> P.O. Box 933435 Atlanta GA 31103-3435



INVOICE



Two Ravinia Drive Suite 850 Atlanta, GA 30346

Phone: 770-390-2700 Fax: 770-390-2705

Invoice Number: 1079015

Invoice Date: 06/20/18

Bill To:

Schiff Hardin LLP 233 South Wacker Drive Suite 7100 Chicago, IL 60606-6473 Bridget E. Turnelius

Ship To: Schiff Hardin LLP 233 South Wacker Drive Suite 7100

Chicago, IL 60606-6473

Customer ID Terms

12952 Net 15 Days

517102

Sales Rep

Sales Rep 2 P.O. Number Job No.

WR-487997 P-1025558 ESI Project No. Client / Matter No. 45807-0028

Quantity	Description
22	Custom Labels
2	Redwelds
22	File Folders
344	Blowbacks - Color
2,552	Blowbacks w/Assembly

Unit Price	Total Price
0.65	14.30
3.00	6.00
0.75	16.50
0.50	172.00
0.08	204.16

Past due invoices are subject to 1.5% interest per month

Subtotal:	412.96
Subtotal:	41

Total Sales Tax:

0.00

Total:

412.96

Remit To: Document Technologies, LLC

DBA Epiq eDiscovery Solutions P.O. Box 933435

- CA 21102 2425



Accepted By: __

517102

INVOICE



Two Ravinia Drive Suite 850 Atlanta, GA 30346 Phone: 770-390-2700 Fax: 770-390-2705

Invoice Number: 1079009

Invoice Date: 06/20/18

Bill To: Schiff Hardin LLP 233 South Wacker Drive Suite 7100 Chicago, IL 60606-6473 Bridget E. Turnelius

Ship To: Schiff Hardin LLP 233 South Wacker Drive Suite 7100 Chicago, IL 60606-6473

Customer ID 12952 Terms Net 15 Days

Sales Rep

Job No. ESI Project No. Client / Matter No. 45807-0028

WR-480287 P-1025558

Sales Rep 2 P.O. Number

Quantity	Description	Unit Price	Total Price
16	Bates Labeling - Custom Labels	0.65	10.40
16	File Folders	0.75	12.00
32	Blowbacks - Color	0.50	16.00
3,984	Blowbacks w/Assembly	0.08	318.72

Past due invoices are subject to 1.5% interest per month

357.12	Subtotal:	
0.00	Total Sales Tax:	
357.12	Total:	ccepted By:

Remit To: Document Technologies, LLC

DBA Epiq eDiscovery Solutions P.O. Box 933435

Atlanta GA 31103_3/35



DOCKET

Explore Litigation Insights



Docket Alarm provides insights to develop a more informed litigation strategy and the peace of mind of knowing you're on top of things.

Real-Time Litigation Alerts



Keep your litigation team up-to-date with **real-time** alerts and advanced team management tools built for the enterprise, all while greatly reducing PACER spend.

Our comprehensive service means we can handle Federal, State, and Administrative courts across the country.

Advanced Docket Research



With over 230 million records, Docket Alarm's cloud-native docket research platform finds what other services can't. Coverage includes Federal, State, plus PTAB, TTAB, ITC and NLRB decisions, all in one place.

Identify arguments that have been successful in the past with full text, pinpoint searching. Link to case law cited within any court document via Fastcase.

Analytics At Your Fingertips



Learn what happened the last time a particular judge, opposing counsel or company faced cases similar to yours.

Advanced out-of-the-box PTAB and TTAB analytics are always at your fingertips.

API

Docket Alarm offers a powerful API (application programming interface) to developers that want to integrate case filings into their apps.

LAW FIRMS

Build custom dashboards for your attorneys and clients with live data direct from the court.

Automate many repetitive legal tasks like conflict checks, document management, and marketing.

FINANCIAL INSTITUTIONS

Litigation and bankruptcy checks for companies and debtors.

E-DISCOVERY AND LEGAL VENDORS

Sync your system to PACER to automate legal marketing.

